Exercise 2C

1
(a)  4 – 6 + 15 – (-3) + (-13)

(b)  11 – 7 + 13 – (-7) + (-3)
2
(a)  15 + 3 × (-5) – 21 × 4 ÷ 3

(b)  21 ÷ 3 + (-6) × 5

3
(a)  Find the product of 4 times (the sum of 7 and 9 plus the difference of 7 and 3).

(b)  Find the quotient of the sum of 7 and 9 and the difference of 7 and 3.
4
(a) 
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(b)  
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5
(a)  2.33 + 13.2 – 7.46 × 0.32

(b)  23.9 – 124.65 + 6 ÷ 2 + 0.023 × 3.9
6
(a)  10 4 × 1002  ÷ 105


(b)  103 × 10-4 ÷ 10-2
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7
Write 
(a)  7/8 as a decimal  

(b)  0.18 as a fraction in it lowest terms

8
Give  
(a)  3.079549 to 2 decimal places and 2 significant figures

         
(b)  0.0007454 to 2 decimal places and 2 significant figures


9
(a) Find 2.5% of £824


(b) What percentage is 16 of 640?

10
(a)  Write 3/8 as a percentage

(b)  Write 68% as a fraction in its lowest terms
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